

**ON INTEGRALS INVOLVING A PRODUCT OF EXTENDED BESSEL MAITLAND FUNCTION AND  $I^*$ -FUNCTION**

By

**Prachi Jain, V. P. Saxena and Arvind Gupta\***

Sagar Institute of Research, Technology and Science  
Ayodhya Bye-pass Road, Bhopal - 462041, Madhya Pradesh, India

\*Department of Mathematics

Motilal Vigyan Mahavidyalaya, Bhopal - 462008, Madhya Pradesh, India

Email:prachi.jain2804@gmail.com, vinodpsaxena@gmail.com and arvind533@yahoo.com

(Received : May 01, 2020 ; Revised: June 03, 2020)

**Abstract**

The object of this paper is to establish some interesting integrals involving the product of extended Bessel-Maitland function and  $I^*$ -function and then, express them in terms of extended  $I^*$ -function. Further some special cases of our results are also deduced.

**2010 Mathematics Subject Classifications:** 33C60, 33C45.

**Keywords and phrases:**  $I^*$ -function, Wright's generalized Bessel-Maitland function,  $I$ -function, definite integrals.

**1 Introduction**

In the last decade, many authors (for example, see [1], [4] - [9]) have developed numerous integral formulas involving a variety of special functions. Such integrals play a very important role in many diverse fields of engineering and sciences ([5], [11], [14]).

Recently, Ghayasuddin and Khan [4], Khan et al. ([6] - [9]) and Ali et al. [1] obtained certain interesting new class of integrals involving the generalized Bessel-Maitland function and expressed in terms of generalized (Wright) hypergeometric function.

In order to derive our main results, we are required to express following definitions and formulae of some well known special functions:

The  $I$ -function [13] defined in terms of following Mellin - Barnes type integral is given by

$$(1.1) \quad I_{p_i, q_i; r}^{m, n} \left[ z \left| \begin{matrix} (a_j, \alpha_j)_{1, n} & (a_{ji}, \alpha_{ji})_{n+1, p_i} \\ (b_j, \beta_j)_{1, m} & (b_{ji}, \beta_{ji})_{m+1, q_i} \end{matrix} \right. \right] = \frac{1}{2\pi\omega} \int_L \varphi(\xi) z^\xi d\xi, \omega = \sqrt{-1},$$

where

$$\varphi(\xi) = \frac{\prod_{j=1}^m \Gamma(b_j - \beta_j \xi) \prod_{j=1}^n \Gamma(1 - a_j + \alpha_j \xi)}{\sum_{i=1}^r \left[ \prod_{j=m+1}^{q_i} \Gamma(1 - b_{ji} + \beta_{ji} \xi) \prod_{j=n+1}^{p_i} \Gamma(a_{ji} - \alpha_{ji} \xi) \right]}$$

$p_i, q_i (i = 1, 2, \dots, r), m$  and  $n$  are integers satisfying  $0 \leq n \leq p_i, 0 \leq m \leq q_i (i = 1, 2, \dots, r)$ ,  $r$  is finite,  $\alpha_j, \beta_j, \alpha_{ji}, \beta_{ji}$  are real and positive and  $a_j, b_j, a_{ji}, b_{ji}$  are numbers such that  $\alpha_k(b_h + v) \neq \beta_h(a_k - 1 - k)$  for  $k, v = 0, 1, 2, \dots; h = 1, 2, \dots, m; i = 1, 2, \dots, r$ .

$L$  is contour running from  $\sigma - i\infty$  to  $\sigma + i\infty$ , where  $\sigma$  is real in the complex  $\xi$ -plane such that the poles

$$\xi = \frac{(a_j - 1 - v)}{\alpha_j}, j = 1, 2, \dots, n; v = 0, 1, 2, \dots$$

$$\xi = \frac{(b_j + v)}{\beta_j}, j = 1, 2, \dots, m; v = 0, 1, 2, \dots$$

to the left and right hand sides of  $L$ , respectively.

The  $I^*$ -function [5], related to the  $I$ -function [13], is introduced as a contour integral in complex  $\xi$ -plane given by

$$(1.2) \quad I_{p_i, q_i; r}^{m, n} \left[ z \left| \begin{matrix} (a_j, \alpha_j)_{1, n} : (a_{ji}, \alpha_{ji})_{1, p_i} \\ (b_j, \beta_j)_{1, m} : (a_{ji}, \beta_{ji})_{1, q_i} \end{matrix} \right. \right] = \frac{1}{2\pi\omega} \int_L \varphi(\xi) z^\xi d\xi,$$

in which

$$\varphi(\xi) = \frac{\prod_{j=1}^m \Gamma(b_j - \beta_j \xi) \prod_{j=1}^n \Gamma(1 - a_j + \alpha_j \xi)}{\sum_{i=1}^r \left[ \prod_{j=1}^{q_i} \Gamma(1 - b_{ji} + \beta_{ji} \xi) \prod_{j=1}^{p_i} \Gamma(a_{ji} - \alpha_{ji} \xi) \right]}$$

Here, for finite value of  $r$ , all  $p_i, q_i (i = 1, 2, \dots, r), m$  and  $n$  are positive integers, satisfying the inequalities;  $0 \leq n \leq p, p_i \geq n \geq 1 (i = 1, 2, \dots, r), 1 \leq m \leq q, q_i \geq m \geq 1 (i = 1, 2, \dots, r), \alpha_j (j = 1, \dots, n), \beta_j (j = 1, \dots, m), \alpha_{ji} (1 \leq j \leq p_i, i = 1, 2, \dots, r), \beta_{ji} (1 \leq j \leq q_i, i = 1, 2, \dots, r)$  are real and positive and  $a_j (j = 1, \dots, n), b_j (j = 1, \dots, m), a_{ji} (1 \leq j \leq p_i, i = 1, 2, \dots, r), b_{ji} (1 \leq j \leq q_i, i = 1, 2, \dots, r)$  are complex numbers such that  $\alpha_k (b_h + \nu) \neq \beta_h (a_k - 1 - l)$  for  $l, \nu = 0, 1, 2, \dots; h = 1, 2, \dots, m$ .

$L$  is contour running from  $\sigma - i\infty$  to  $\sigma + i\infty$ , where  $\sigma$  is real in the complex  $\xi$ - plane such that the poles  $\xi = \frac{(a_j - 1 - l)}{\alpha_j}, j = 1, 2, \dots, n; l = 0, 1, 2, \dots, \xi = \frac{(b_j + \nu)}{\beta_j}, j = 1, 2, \dots, m; \nu = 0, 1, 2, \dots$  lie to the left and right hand sides of the contour  $L$  respectively, the empty product is represented as 1.

The  $I^*$ - function converges absolutely in the  $\xi$ - plane if  $|\arg z| < \frac{\pi}{2}A$ .

$$(1.3) \text{ where, } A = \sum_{j=1}^n \alpha_j + \sum_{j=1}^m \beta_j - \max_{1 \leq i \leq r} \left[ \sum_{j=1}^{p_i} \alpha_{ji} + \sum_{j=1}^{q_i} \beta_{ji} \right] > 0$$

**Property 1.1** The  $I^*$ - function (1.2) - (1.3) is most probably identical to  $I$ -function given in (1.1).

**Property 1.2** For  $r = 1$ , the  $I^*$ -function defined in (1.2) - (1.3) has a relation with Fox's  $H$ - function [3] as

$$I_{p_1, q_1}^{m, n} \left[ z \left| \begin{matrix} (a_j, \alpha_j)_{1, n} : (a_{j1}, \alpha_{j1})_{1, p_1} \\ (b_j, \beta_j)_{1, m} : (a_{j1}, \beta_{j1})_{1, q_1} \end{matrix} \right. \right] = H_{p_1 + n, q_1 + m}^{m, n} \left[ z \left| \begin{matrix} (a_j, \alpha_j)_{1, n} : (a_{j1}, \alpha_{j1})_{n+1, p_1}, (a_{j1}, \alpha_{j1})_{1, n} \\ (b_j, \beta_j)_{1, m} : (b_{j1}, \beta_{j1})_{m+1, q_1}, (b_{j1}, \beta_{j1})_{1, m} \end{matrix} \right. \right]$$

where,  $|\arg z| < \frac{\pi}{2}A$  and  $A = \sum_{j=1}^n \alpha_j + \sum_{j=1}^m \beta_j - \left[ \sum_{j=1}^{p_1} \alpha_{j1} + \sum_{j=1}^{q_1} \beta_{j1} \right] > 0$ .

A new extension of Bessel-Maitland function is introduced by Khan et al. [9] as

$$(1.4) J_{\alpha, \gamma, \mu, \rho, \nu, s}^{\beta, \delta, \sigma, t} (z) = \sum_{h=0}^{\infty} \frac{(\beta)_{\delta h} (\sigma)_{\delta h} (-z)^h}{\Gamma(\gamma h + \alpha + 1) (\nu)_{\delta h} (\mu)_{\delta h}},$$

where  $\alpha, \gamma, \mu, \rho, \nu, \beta, \delta, \sigma \in C; (\beta) > 0, (\gamma) > 0, (\delta) > 0, (\mu) > 0, (\rho) > 0, (\sigma) > 0, (\nu) > 0, (\alpha) \geq -1; s, t > 0$  and  $t < (\gamma) + s$  and  $(\beta)_0 = 1, (\beta)_{\delta h} = \frac{\Gamma(\beta + \delta h)}{\Gamma(\beta)}$  denotes the generalized Pochhammer symbol.

Some formulae of definite integrals are found by the authors:

By Edward [2] as

$$(1.5) \int_0^1 \int_0^1 y^k (1-x)^{k-1} (1-y)^{l-1} (1-xy)^{1-k-l} dx dy = \frac{\Gamma(k)\Gamma(l)}{\Gamma(k+l)},$$

provided  $0 < (l) < (k)$ .

By Oberhettinger [12] given as

$$(1.6) \int_0^{\infty} x^{\alpha-1} (x+c + \sqrt{x^2 + 2cx})^{-\beta} dx = 2\beta c^{-\beta} \left(\frac{\alpha}{2}\right)^{\alpha} \frac{\Gamma(2\alpha)\Gamma(\beta-\alpha)}{\Gamma(1+\alpha+\beta)},$$

provided  $0 < (\alpha) < (\beta)$ .

MacRobert [10] presented as

$$(1.7) \int_0^1 x^{\alpha-1} (1-x)^{\beta-1} [cx + d(1-x)]^{-\alpha-\beta} dx = \frac{1}{c^{\alpha} d^{\beta}} \frac{\Gamma(\alpha)\Gamma(\beta)}{\Gamma(\alpha+\beta)},$$

provided  $(\alpha) > 0, (\beta) > 0$  and  $c, d$  are non zero constants and the expression  $cx + d(1-x)$ , where  $0 \leq x \leq 1$  is non zero.

## 2 Main Results

In this section we derive following theorems on extended Bessel-Maitland function and  $I^*$ - function.

**Theorem 2.1** If  $\alpha, \gamma, \mu, \rho, \nu, \beta, \delta, \sigma \in C; (\beta) > 0, (\gamma) > 0, (\delta) > 0, (\mu) > 0, (\rho) > 0, (\sigma) > 0, (\nu) > 0, (\alpha) \geq -1; s, t > 0$  and  $t < (\gamma) + s$  and  $0 < (l) < (k)$ . Then following integral exists

$$(2.1) \int_0^1 \int_0^1 y^k (1-x)^{k-1} (1-y)^{l-1} (1-xy)^{1-k-l} J_{\alpha, \gamma, \mu, \rho, \nu, s}^{\beta, \delta, \sigma, t} \left[ \frac{y(1-x)(1-y)}{(1-xy)^2} \right] I_{p_i, q_i; r}^{m, n} \left[ \frac{zy(1-x)(1-y)}{(1-xy)^2} \left| \begin{matrix} (a_j, A_j)_{1, n} : (a_{ji}, A_{ji})_{1, p_i} \\ (b_j, B_j)_{1, m} : (a_{ji}, B_{ji})_{1, q_i} \end{matrix} \right. \right] dx dy$$

$$= \sum_{h=0}^{\infty} \frac{(-1)^h (\beta)_{\delta h} (\sigma)_{\delta h}}{\Gamma(\gamma h + \alpha + 1) (\nu)_{\delta h} (\mu)_{\delta h}} I_{p_i, q_i+1; r}^{m, n+2} \left[ z \left| \begin{matrix} (a_j, A_j)_{1, n}, (1-k-h, 1), (1-l-h, 1) : (a_{ji}, A_{ji})_{1, p_i} \\ (b_j, B_j)_{1, m} : (a_{ji}, B_{ji})_{1, q_i}, (1-k-l-2h, 2) \end{matrix} \right. \right],$$

provided that  $|\arg z| < \frac{\pi}{2}A', A' = \sum_{j=1}^n A_j + \sum_{j=1}^m B_j - \max_{1 \leq i \leq r} [\sum_{j=1}^{p_i} A_{ji} + \sum_{j=1}^{q_i} B_{ji}] > 0$ .

**Proof.** In left hand side of (2.1), expand  $J_{\alpha, \gamma, \mu, \rho, \nu, s}^{\beta, \delta, \sigma, t}(\cdot)$ , in the series by (1.4) and the function  $I_{p_i, q_i; r}^{m, n}[\cdot]$ , in the Mellin integral (1.2) and then, interchange the order of summation and integration, we get

$$(2.2) \sum_{h=0}^{\infty} \frac{(-1)^h (\beta)_{\delta h} (\sigma)_{\delta h}}{\Gamma(\gamma h + \alpha + 1) (\nu)_{\delta h} (\mu)_{\delta h}} \frac{1}{2\pi\omega} \int_L \varphi(\xi) z^{\xi} \int_0^1 \int_0^1 y^{k+h+\xi} (1-x)^{k+h+\xi-1} (1-y)^{l+h+\xi-1} (1-xy)^{1-k-l-2h-2\xi} dx dy d\xi.$$

Now, in (2.2) apply the formula (1.5) to achieve

$$(2.3) \sum_{h=0}^{\infty} \frac{(-1)^h (\beta)_{\delta h} (\sigma)_{\delta h}}{\Gamma(\gamma h + \alpha + 1) (\nu)_{\delta h} (\mu)_{\delta h}} \frac{1}{2\pi\omega} \int_L \varphi(\xi) \frac{\Gamma(k+h+\xi)\Gamma(l+h+\xi)}{\Gamma(k+l+2h+2\xi)} z^{\xi} d\xi,$$

By definition of (1.2), the expression (2.3) immediately gives the result (2.1).

**Theorem 2.2** If  $\alpha, \gamma, \mu, \rho, \nu, \beta, \delta, \sigma \in C; (\beta) > 0, (\gamma) > 0, (\delta) > 0, (\mu) > 0, (\rho) > 0, (\sigma) > 0, (\nu) > 0, (\alpha) \geq -1; s, t > 0, t < (\gamma) + s, 0 < (\tau) + 1 < (\rho), |\arg z| < \frac{\pi}{2}A'$  and  $A' = \sum_{j=1}^n A_j + \sum_{j=1}^m B_j - \max_{1 \leq i \leq r} [\sum_{j=1}^{p_i} A_{ji} + \sum_{j=1}^{q_i} B_{ji}] > 0$ , then following integral exists

$$(2.4) \int_0^\infty x^\tau (x+c+\sqrt{x^2+2cx})^{-\beta} J_{\alpha, \gamma, \mu, \rho, \nu, s}^{\beta, \delta, \sigma, t} \left( \frac{x}{x+c+\sqrt{x^2+2cx}} \right) I_{p_i, q_i; r}^{m, n} \left[ \frac{zx}{(x+c+\sqrt{x^2+2cx})} \middle| \begin{matrix} (a_j, A_j)_{1, n} : (a_{ji}, A_{ji})_{1, p_i} \\ (b_j, B_j)_{1, m} : (a_{ji}, B_{ji})_{1, q_i} \end{matrix} \right] dx$$

$$= (c)^{1+\tau-\lambda} \left( \frac{1}{2} \right)^{1+\tau} (-\tau) \sum_{h=0}^\infty \frac{(-\frac{1}{2})^h (\beta)_{\delta h} (\sigma)_{\delta h}}{\Gamma(\gamma h + \alpha + 1) (\nu)_{\delta h} (\mu)_{\delta h}} I_{p_i, q_i+1; r}^{m, n+1} \left[ \frac{z}{2} \middle| \begin{matrix} (-1-2\tau-2h, 2), (a_j, A_j)_{1, n} : (a_{ji}, A_{ji})_{1, p_i} \\ (b_j, B_j)_{1, m} : (a_{ji}, B_{ji})_{1, q_i}, (-1-\tau-2h, 2) \end{matrix} \right]$$

$$+ (c)^{1+\tau-\lambda} \left( \frac{1}{2} \right)^{1+\tau} (-\tau-1) \sum_{h=0}^\infty \frac{(-\frac{1}{2})^h (\beta)_{\delta h} (\sigma)_{\delta h}}{\Gamma(\gamma h + \alpha + 1) (\nu)_{\delta h} (\mu)_{\delta h}} I_{p_i, q_i+1; r}^{m, n+1} \left[ \frac{z}{2} \middle| \begin{matrix} (-1-2\tau-2h, 2), (a_j, A_j)_{1, n} : (a_{ji}, A_{ji})_{1, p_i} \\ (b_j, B_j)_{1, m} : (a_{ji}, B_{ji})_{1, q_i}, (-\tau-2h, 2) \end{matrix} \right],$$

**Proof.** In the integrand of (2.4) define by the definitions given in (1.2) and (1.4) and then interchanging the order of integration and summation to get that

$$(2.5) \sum_{h=0}^\infty \frac{(-1)^h (\beta)_{\delta h} (\sigma)_{\delta h}}{\Gamma(\gamma h + \alpha + 1) (\nu)_{\delta h} (\mu)_{\delta h}} \frac{1}{2\pi\omega} \int_L \varphi(\xi) z^\xi \int_0^\infty x^{\tau+h+\xi} (x+c+\sqrt{x^2+2cx})^{-h-\xi} dx d\xi.$$

In the inner integral of (2.5), use the result (1.6) to find that

$$(2.6) (c)^{1+\tau-\lambda} \left( \frac{1}{2} \right)^{1+\tau} (-\tau) \sum_{h=0}^\infty \frac{(-\frac{1}{2})^h (\beta)_{\delta h} (\sigma)_{\delta h}}{\Gamma(\gamma h + \alpha + 1) (\nu)_{\delta h} (\mu)_{\delta h}} \frac{1}{2\pi\omega} \int_L \varphi(\xi) \frac{(2+2\tau+2h+2\xi)}{(2+\lambda+\tau+2h+2\xi)} \left( \frac{z}{2} \right)^\xi d\xi$$

$$+ (c)^{1+\tau-\lambda} \left( \frac{1}{2} \right)^{1+\tau} (-\tau-1) \sum_{h=0}^\infty \frac{(-\frac{1}{2})^h (\beta)_{\delta h} (\sigma)_{\delta h}}{\Gamma(\gamma h + \alpha + 1) (\nu)_{\delta h} (\mu)_{\delta h}} \frac{1}{2\pi\omega} \int_L \varphi(\xi) \frac{(2+2\tau+2h+2\xi)}{(1+\lambda+\tau+2h+2\xi)} \left( \frac{z}{2} \right)^\xi d\xi.$$

Finally, use the definition (1.2) in the contour integrals of (2.6), we obtain the right hand side of (2.4) as

$$(2.7) (c)^{1+\tau-\lambda} \left( \frac{1}{2} \right)^{1+\tau} (-\tau) \sum_{h=0}^\infty \frac{(-\frac{1}{2})^h (\beta)_{\delta h} (\sigma)_{\delta h}}{\Gamma(\gamma h + \alpha + 1) (\nu)_{\delta h} (\mu)_{\delta h}} I_{p_i, q_i+1; r}^{m, n+1} \left[ \frac{z}{2} \middle| \begin{matrix} (-1-2\tau-2h, 2), (a_j, A_j)_{1, n} : (a_{ji}, A_{ji})_{1, p_i} \\ (b_j, B_j)_{1, m} : (a_{ji}, B_{ji})_{1, q_i}, (-1-\tau-2h, 2) \end{matrix} \right]$$

$$+ (c)^{1+\tau-\lambda} \left( \frac{1}{2} \right)^{1+\tau} (-\tau-1) \sum_{h=0}^\infty \frac{(-\frac{1}{2})^h (\beta)_{\delta h} (\sigma)_{\delta h}}{\Gamma(\gamma h + \alpha + 1) (\nu)_{\delta h} (\mu)_{\delta h}} I_{p_i, q_i+1; r}^{m, n+1} \left[ \frac{z}{2} \middle| \begin{matrix} (-1-2\tau-2h, 2), (a_j, A_j)_{1, n} : (a_{ji}, A_{ji})_{1, p_i} \\ (b_j, B_j)_{1, m} : (a_{ji}, B_{ji})_{1, q_i}, (-\tau-2h, 2) \end{matrix} \right].$$

In the result (2.7), apply the conditions of the results (1.3), (1.4) and (1.6), we get the conditions given in the **Theorem 2.2**. Hence, the **Theorem 2.2** is followed.

**Theorem 2.3** If  $\alpha, \gamma, \mu, \rho, \nu, \beta, \delta, \sigma \in C; (\beta) > 0, (\gamma) > 0, (\delta) > 0, (\mu) > 0, (\rho) > 0, (\sigma) > 0, (\nu) > 0, (\alpha) \geq -1; s, t > 0, t < (\gamma) + s, (k) > 0, (l) > 0, |\arg z| < \frac{\pi}{2}A'$  and  $A' = \sum_{j=1}^n A_j + \sum_{j=1}^m B_j - \max_{1 \leq i \leq r} [\sum_{j=1}^{p_i} A_{ji} + \sum_{j=1}^{q_i} B_{ji}] > 0$ , then following integral holds good

$$(2.8) \int_0^1 x^{k-1} (1-x)^{l-1} [cx+d(1-x)]^{-k-l} J_{\alpha, \gamma, \mu, \rho, \nu, s}^{\beta, \delta, \sigma, t} \left[ \frac{cdx(1-x)}{[cx+d(1-x)]^2} \right] I_{p_i, q_i; r}^{m, n} \left[ \frac{zx(1-x)}{[cx+d(1-x)]^2} \middle| \begin{matrix} (a_j, A_j)_{1, n} : (a_{ji}, A_{ji})_{1, p_i} \\ (b_j, B_j)_{1, m} : (a_{ji}, B_{ji})_{1, q_i} \end{matrix} \right] dx$$

$$= \frac{1}{c^k d^l} \sum_{h=0}^\infty \frac{(-1)^h (\beta)_{\delta h} (\sigma)_{\delta h}}{\Gamma(\gamma h + \alpha + 1) (\nu)_{\delta h} (\mu)_{\delta h}} I_{p_i, q_i+1; r}^{m, n+2} \left[ \frac{z}{cd} \middle| \begin{matrix} (1-k-h, 1), (1-l-h, 1), (a_j, A_j)_{1, n} : (a_{ji}, A_{ji})_{1, p_i} \\ (b_j, B_j)_{1, m} : (a_{ji}, B_{ji})_{1, q_i}, (1-k-l-2h, 2) \end{matrix} \right],$$

**Proof.** In the similar manner of the **Theorems 2.1** and **2.2**, and using the result of Eqn. (1.7), we obtain the result (2.7) of the **Theorem 2.3**.

### 3 Special cases

Here, among numerous special cases of the results in **Section 2**, only three of which are presented.

1. On replacing  $\alpha$  by  $\alpha - 1$  in the **Theorem 2.1**, we get

$$(3.1) \int_0^1 \int_0^1 y^k (1-x)^{k-1} (1-y)^{l-1} (1-xy)^{1-k-l} E_{\alpha, \gamma, \mu, \rho, \nu, s}^{\beta, \delta, \sigma, t} \left[ \frac{y(1-x)(1-y)}{(1-xy)^2} \right] I_{p_i, q_i; r}^{m, n} \left[ \frac{zy(1-x)(1-y)}{(1-xy)^2} \middle| \begin{matrix} (a_j, A_j)_{1, n} : (a_{ji}, A_{ji})_{1, p_i} \\ (b_j, B_j)_{1, m} : (a_{ji}, B_{ji})_{1, q_i} \end{matrix} \right] dx dy$$

$$= \sum_{h=0}^\infty \frac{(-1)^h (\beta)_{\delta h} (\sigma)_{\delta h}}{\Gamma(\gamma h + \alpha) (\nu)_{\delta h} (\mu)_{\delta h}} I_{p_i, q_i+1; r}^{m, n+2} \left[ \frac{z}{c} \middle| \begin{matrix} (a_j, A_j)_{1, n}, (1-k-h, 1), (1-l-h, 1) : (a_{ji}, A_{ji})_{1, p_i} \\ (b_j, B_j)_{1, m} : (a_{ji}, B_{ji})_{1, q_i}, (1-k-l-2h, 2) \end{matrix} \right],$$

provided that  $|\arg z| < \frac{\pi}{2}A', A' = \sum_{j=1}^n A_j + \sum_{j=1}^m B_j - \max_{1 \leq i \leq r} [\sum_{j=1}^{p_i} A_{ji} + \sum_{j=1}^{q_i} B_{ji}] > 0$ , and  $\gamma, \mu, \rho, \nu, \beta, \delta, \sigma \in C; (\beta) > 0, (\gamma) > 0, (\delta) > 0, (\mu) > 0, (\rho) > 0, (\sigma) > 0, (\nu) > 0, (\alpha) > 0; s, t > 0$  and  $t < (\gamma) + s, 0 < (l) < (k)$ .

Here,  $E_{\alpha, \gamma, \mu, \rho, \nu, s}^{\beta, \delta, \sigma, t}(z)$ , a generalized Mittag-Leffler function, is defined by Khan and Ahmed [6].

2. On setting  $r = 1$  in **Theorem 2.1**, we obtain

$$(3.2) \int_0^1 \int_0^1 y^k (1-x)^{k-1} (1-y)^{l-1} (1-xy)^{1-k-l} J_{\alpha, \gamma, \mu, \rho, \nu, s}^{\beta, \delta, \sigma, t} \left[ \frac{y(1-x)(1-y)}{(1-xy)^2} \right] I_{p_i, q_i; 1}^{m, n} \left[ \frac{zy(1-x)(1-y)}{(1-xy)^2} \middle| \begin{matrix} (a_j, A_j)_{1, n} : (a_{j1}, A_{j1})_{1, p_1} \\ (b_j, B_j)_{1, m} : (a_{j1}, B_{j1})_{1, q_1} \end{matrix} \right] dx dy$$

$$= \sum_{h=0}^{\infty} \frac{(-1)^h (\beta)_{sh} (\sigma)_{th}}{\Gamma(\gamma h + \alpha + 1) (\nu)_{sh} (\mu)_{ph}} H_{p_1+n+2, q_1+m+1}^{m, n+2} \left[ z \left| \begin{matrix} (a_j, \alpha_j)_{1, n}, (1-k-h, 1), (1-l-h, 1) : (a_{j1}, \alpha_{j1})_{n+1, p_1}, (a_{j1}, \alpha_{j1})_{1, n} \\ (b_j, \beta_j)_{1, m} : (b_{j1}, \beta_{j1})_{m+1, q_1}, (b_{j1}, \beta_{j1})_{1, m}, (1-k-l-2h, 2) \end{matrix} \right. \right],$$

provided that  $\alpha, \gamma, \mu, \rho, \nu, \beta, \delta, \sigma \in C; (\beta) > 0, (\gamma) > 0, (\delta) > 0, (\mu) > 0, (\rho) > 0, (\sigma) > 0, (\nu) > 0, (\alpha) \geq -1; s, t > 0, t < (\gamma) + s, 0 < (l) < (k), |\arg z| < \frac{\pi}{2} A'$  and  $A' = \sum_{j=1}^n A_j + \sum_{j=1}^m B_j - [\sum_{j=1}^p A_j + \sum_{j=1}^q B_j] > 0$ .

3. On setting  $\rho = s = t = \delta = 0$  in **Theorem 2.1**, we obtain

$$(3.3) \int_0^1 \int_0^1 y^k (1-x)^{k-1} (1-y)^{l-1} (1-xy)^{1-k-l} J_{\alpha}^{\gamma} \left[ \frac{y(1-x)(1-y)}{(1-xy)^2} \right] I_{p_i, q_i; r}^{m, n} \left[ \frac{zy(1-x)(1-y)}{(1-xy)^2} \right] \left[ \begin{matrix} (a_j, A_j)_{1, n} : (a_{ji}, A_{ji})_{1, p_i} \\ (b_j, B_j)_{1, m} : (a_{ji}, B_{ji})_{1, q_i} \end{matrix} \right] dx dy$$

$$= \sum_{h=0}^{\infty} \frac{(-1)^h}{h! \Gamma(\gamma h + \alpha + 1)} I_{p_i, q_i+1; r}^{m, n+2} \left[ z \left| \begin{matrix} (a_j, A_j)_{1, n}, (1-k-h, 1), (1-l-h, 1) : (a_{ji}, A_{ji})_{1, p_i} \\ (b_j, B_j)_{1, m} : (a_{ji}, B_{ji})_{1, q_i}, (1-k-l-2h, 2) \end{matrix} \right. \right],$$

provided that  $z \in C, (\beta) > 0, (\alpha) > -1, 0 < (l) < (k), |\arg z| < \frac{\pi}{2} A$  and  $A = \sum_{j=1}^n A_j + \sum_{j=1}^m B_j - \max_{1 \leq i \leq r} [\sum_{j=1}^{p_i} A_{ji} + \sum_{j=1}^{q_i} B_{ji}] > 0$ , and  $J_{\alpha}^{\gamma}(z)$  is Bessel-Maitland function [9, Eq.(8.3)].

**Acknowledgement.** We wish to express our sincere thanks to the Editor and Reviewer for their valuable suggestions to improve the paper in its present form.

## References

- [1] M. Ali, W. A. Khan and I. A. Khan, On certain integral transform involving generalized Bessel-Maitland function and applications, *J. Fract. Calc. Applic.*, **11(1)** (2020), 173-181.
- [2] J. Edward, *A Treatise on the Integral Calculus*, Vol. II, Chelsea Publishing Company, New York, 1922.
- [3] C. Fox, The  $G$  and  $H$ -Functions as symmetrical Fourier kernels, *Trans. Amer. Math. Soc.*, **98** (1961), 395-429.
- [4] M. Ghayasuddin and W.A. Khan, A new extension of Bessel-Maitland function and its properties, *Matematiski Vesnik*, **70 (4)** (2018), 292-302.
- [5] P. Jain and V.P. Saxena, Churchill's Diffusion and Euler type Integral Involving and  $I^*$ - Function, *Jnanabha*, **49 (2)** (2019), 113-119.
- [6] M.A. Khan and S. Ahmed, On some properties of the generalized Mittag- Leffler function, *Springer Plus* 2013, 23-37.
- [7] W. A. Khan and K. S. Nisar, Beta type integral formula associated with Wright generalized Bessel function, *Acta Math. Univ. Comenianae*, **1** (2018), 117-125.
- [8] W. A. Khan and K. S. Nisar, Unified integral operator involving generalized Bessel-Maitland function, *Proc. Jangjeon Math. Soc.*, **21** (2018), 339 - 346.
- [9] W. A. Khan, K. S. Nisar and M. Ahmad, On certain integral transforms involving generalized Bessel-Maitland function, *J. Appl. Pure Math.*, **2** (2020), 63-78.
- [10] T. M. MacRobert, Beta functions formulae and integrals involving  $E$ -Function, *Math. Annalen*, **142** (1961), 450-452.
- [11] A. M. Mathai, R. K. Saxena and H. J. Houbold, *The H-Function; Theory and Applications*, Springer, New York, 2010.
- [12] F. Oberhettinger, *Tables of Mellin Transforms*, Springer, New York, 1974.
- [13] V. P. Saxena, *The I-function*, Anamaya Publisher, New Delhi, 2008.
- [14] G. N. Watson, *A Treatise on the Theory of Bessel Functions*, Cambridge University Press, 1995.